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Q. Answer Mark Additional Guidance
1.a) 466 1 A: 1
b) 71 1 A: 1
C) 630 1 A1
d) 106 1 A: 1
e) 697 1 A:1
f) 49 1 A:1
9) 4.2 1 A: 1
h) 1600 1 A1
2. a) 4.07 4.709 4.79 49 2 A: 2 deduct 1 mark for
each error or
omission
b) < — < 3 A: 3 award 1 mark for
each
3. a) 70 1 A:1
b) 101000 1 A: 1
4. a) 26 1 A:1
b) 25 or 36 1 A:1
C) 24 or 36 1 A:1
d) 36 or 46 1 A:1
5.a) i)|26 1 A:1
ii) | 72 2 M: 1 for 8 seen
A: 1 for answer
b) 6 2 M: 1 for 35 seen
A: 1 for answer
6. a) 6.4cm 1 A:1
allow 6.3 -6.5cm
b) 64 mm 1 A: 1 allow follow through

from part a)
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Q. Answer Mark Additional Guidance
C) 64 m 2 M: 1 for 6400cm
allow follow through
from part a)
A: 1 for answer
allow follow through
from part a)
7. ) 17 1 A: 1
b) 2009 1 A: 1
8. y
10t
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A\\
2
1
0 1 2 3 8 9 15 X
a) shape A 1 A:1
b) shape B 1 A:1
C) shape C 2 A: 2 award 1 mark for
each movement
d) scalene 2 A: 2 award 1 mark for
each
right-angled
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Q. Answer Mark Additional Guidance
9. a) 20 tablespoons 1 A:1
b) i) |96g 1 A:1
ii) | 10 days 2 M:11000g + 969
A: 1 for answer
10. a=20° 4 A:1
b= 35° A:1
c=75° M: 1 for 70° seen
A: 1
11. a) 85 1 A1
b) -6 1 A:1
12.a) 1.14 p.m. or 13:14 2 A:2
b) 37 minutes 1 A: 1
13. 16 2 M: 1 for 80 seen
A: 1 for answer
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T Mark Additional Guidance

square

rhombus

regular hexagon

rectangle

trapezium

parallelogram

2 A: 2 deduct 1 mark
for each error or
omission

) shape number of lines 2 Az ggg;\] %tr:orrngrr or
of symmetry omission
A 1
B 2
C 0
D 6
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Q. Answer Mark Additional Guidance
15.a) 96 1 A: 1
b) o : ‘
B activity number of children j
playing computer games 24
sports 32
chatting with friends 18
watching television A2
other A2
3 A: 1 for 12 for either
‘watching television’
or ‘other’
A: 1 for 16 for ‘chatting
with friends’
A: 1 for 32 for ‘sports’
3 : 72
c) T 2 M: 1 for &=
A: 1 for answer
16.a) 21352 3 M: 1 for 2512 or 18840
seen
A: 2 for answer
b) 27 2 A:2
17.a) 1 A: 1 for any 10 cells
shaded
b) 2 M: 1 for 4 or 55 seen

A: 1 for any 4 cells
shaded
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Q/.‘ Answer Mark Additional Guidance
/ 2
18.2) 7 1 A1
- —
/ 4
b) 5 2 A:2
//
19.a) 0.44 1 A: 1
/
| e
2. 240 2 | M:1for10% = 60 or
1% = 6 or
20% = 120
A: 1 for answer
—
21.a) 8743 1 A: 1
S
b) 47 and 83 1 A: 1
c) 37 and 84 2 A: 2
22.2) any two numbers where x + y = 13 1 A: 1
=7
b) ; =6 1 A: 1
23.a) i) |32m’ 1 Py
ii) | 24m 1 A:1
b) any two of the following rectangles: 2 A: 2 award 1 mark for
1cm x 8cm each correct
oom X 7¢m rectangle
3cm X 6cm
4cm X 5cm
c) 6m 2 M: 1 for 60 seen
A: 1 for answer
24.3) £447 1 Al
b) £47 1 A:1
c) bedside table and bookshelf 2 A: 2 must have both
25.2) 19 1 A:1
b) 90° 2 M: 1 for 180 + 6
L A: 1 for answer
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26. 21 3 A:3
27. 4 minutes 2 A:2
Total 100
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